

# Some Applications of Fractional Calculus of a Class of $k$ – Uniformly Convex Functions and Related Class of $k$ – Starlike Functions Defined by Integral Operator I

Hussein Jaber Abdul Hussein\* and Rafid Habib Buti\*\*

Department of Mathematics and Computer Applications  
College of Sciences, University of Al-Muthanna, Samawa, Iraq  
Hussein\_almaaly77@yahoo.com  
Rafidhb@yahoo.com

**Abstract.** In our paper, we study a class of univalent functions with negative coefficients defined by integral operator in the unit disk  $U$  by applications fractional calculus . We obtain some results for this class .

**Mathematics Subject Classification:** Primary 30C45

**Keywords:** Univalent Function , Fractional Calculus , Integral Operator , Integral representation

## 1. Introduction

Let  $R$  be the class of the functions defined by the form :

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad , \quad (a_n \geq 0, n \in \mathbb{N}) \quad (1)$$

which are analytic and univalent in the unit disk  $U = \{z \in \mathbb{C} : |z| < 1\}$  .

A function  $f \in R$  is said to in the class  $k$  –  $ST(\gamma)$  , the class of  $k$  – starlike functions of order  $\gamma$  , ( $0 \leq \gamma < 1$ ) if  $f$  satisfies the condition

$$\operatorname{Re}\left\{\frac{zf'(z)}{f(z)}\right\} > k\left|\frac{zf'(z)}{f(z)} - 1\right| + \gamma, \quad k \geq 0. \tag{2}$$

Replacing  $f$  in (2) by  $zf'(z)$  we get the condition

$$\operatorname{Re}\left\{1 + \frac{zf''(z)}{f'(z)}\right\} > k\left|\frac{zf''(z)}{f'(z)}\right| + \gamma, \quad k \geq 0. \tag{3}$$

Required for the function  $f$  to be in the class  $k-UCV(\gamma)$  of  $k$ -uniformly convex functions of order  $\gamma$ .

Uniformly starlike and convex functions were first introduced by Goodman [3] and then studied by various authors like Rania and Bapna [5], Srivastava [7], Khairnar and Mena More [4], Atshan and Buti [1].

**Lemma 1 :** [2]

The function  $f(z)$  defined by (1) is in the class  $k-UCV(\lambda, \gamma, \beta, \delta)$  if and only

$$\text{if } \sum_{n=2}^{\infty} (1 - \lambda + n\lambda)[n(1+k) - (k + \gamma)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n \leq 1 - \gamma \tag{4}$$

where  $0 \leq \gamma < 1, k \geq 0, 0 \leq \lambda \leq 1, \beta \geq 0$  and  $\delta > -1$ .

**Lemma 2 :** [2]

If  $f \in k-UCV(\lambda, \gamma, \beta, \delta)$ , then

$$a_n \leq \frac{(1 - \gamma)\Gamma(\beta + \delta + n)\Gamma(\delta + 1)}{(1 - \lambda + n\lambda)[n(1+k) - (k + \gamma)]\Gamma(\beta + \delta + 1)\Gamma(\delta + n)} \tag{5}$$

where  $0 \leq \gamma < 1, k \geq 0, 0 \leq \lambda \leq 1, \beta \geq 0$  and  $\delta > -1$ .

**Lemma 3 :**

Let  $f \in R$  be of the form (1). If for some  $k \geq 0$ , the following inequality

$$\sum_{n=2}^{\infty} n[(k+1)(n-1) + (1-\gamma)]a_n \leq 1 - \gamma. \tag{6}$$

Holds true, then  $f \in k-UCV(\gamma)$ .

**Proof :**

It suffices to show that

$$k\left|\frac{zf''(z)}{f'(z)}\right| - \operatorname{Re}\left\{\frac{zf''(z)}{f'(z)}\right\} \leq 1 - \gamma. \text{ Notice that}$$

$$k\left|\frac{zf''(z)}{f'(z)}\right| - \operatorname{Re}\left\{\frac{zf''(z)}{f'(z)}\right\} \leq (k+1)\left|\frac{zf''(z)}{f'(z)}\right|$$

$$\leq (k + 1) \frac{\sum_{n=2}^{\infty} n(n - 1)a_n}{1 - \sum_{n=2}^{\infty} na_n}$$

The last inequality above is bounded above by  $(1 - \gamma)$ , if

$$\sum_{n=2}^{\infty} n[(k + 1)(n - 1) + (1 - \gamma)]a_n \leq 1 - \gamma . \text{ This complete the proof .}$$

**Lemma 4 :**

Let  $f \in R$  be of the form (1) . If for some  $k \geq 0$  , the following inequality

$$\sum_{n=2}^{\infty} [(n - 1)(k + 1) + 1]a_n \leq 1 - \gamma . \tag{7}$$

Holds true , then  $f \in k - ST(\gamma)$  .

**Proof :**

It is suffices to show that

$$k \left| \frac{zf'(z)}{f(z)} - 1 \right| - \text{Re} \left\{ \frac{zf'(z)}{f(z)} - 1 \right\} \leq 1 - \gamma$$

Notice that

$$\begin{aligned} k \left| \frac{zf'(z)}{f(z)} - 1 \right| - \text{Re} \left\{ \frac{zf'(z)}{f(z)} - 1 \right\} &\leq (k + 1) \left| \frac{zf'(z)}{f(z)} - 1 \right| \\ &\leq (k + 1) \frac{\sum_{n=2}^{\infty} (n - 1)a_n}{1 - \sum_{n=2}^{\infty} a_n} \end{aligned}$$

The last inequality above is bounded above by  $(1 - \gamma)$ , if

$$\sum_{n=2}^{\infty} [(n - 1)(k + 1) + 1]a_n \leq 1 - \gamma .$$

This complete the proof .

**3. Application of the fractional calculus :**

Various operators of fractional calculus (that is, fractional derivative and fractional integral) have been rather extensively studied by many researcher (c.f. [8],[9],[10]). However , we try to restrict ourselves to the following definitions given by Owa[6] for convenience.

**Definition 1:**(Fractional integral operator). The fractional integral of order  $\alpha$  is defined , for a function  $f(z)$  , by

$$D_z^{-\alpha} f(z) = \frac{1}{\Gamma(\alpha)} \int_0^z \frac{f(t)}{(z-t)^{1-\alpha}} dt \quad (\alpha > 0), \tag{8}$$

where  $f(z)$  is an analytic function in a simply – connected region of the  $z$  – plane containing the origin, and the multiplicity of  $(z-t)^{\alpha-1}$  is removed by requiring  $\log(z-t)$  to be real , when  $(z-t) > 0$ .

**Definition 2:** (Fractional derivative operator). The fractional derivative of order  $\alpha$  is defined , for a function  $f(z)$  by

$$D_z^\alpha f(z) = \frac{1}{\Gamma(1-\alpha)} \frac{d}{dz} \int_0^z \frac{f(t)}{(z-t)^\alpha} dt \quad (0 \leq \alpha), \tag{9}$$

where  $f(z)$  is constrained , and the multiplicity of  $(z-t)^{-\alpha}$  is removed, as in Definition 2.

**Definition 3:** [Under the condition of Definition 3 the fractional derivative of order  $k + \alpha$  ( $k = 0,1,2,\dots$ ) is defined by

$$D_z^{k+\alpha} f(z) = \frac{d^k}{dz^k} D_z^\alpha f(z), \quad (0 \leq \alpha < 1). \tag{10}$$

From definition 2 and 3 by applying a simple calculation, we get

$$G(z) = \Gamma(2 + \alpha) z^{-\alpha} D_z^{-\alpha} f(z) = z - \sum_{n=2}^{\infty} \frac{\Gamma(2 + \alpha)\Gamma(n+1)}{\Gamma(n+1 + \alpha)} a_n z^n, \tag{11}$$

$$F(z) = \Gamma(2 - \alpha) z^\alpha D_z^\alpha f(z) = z - \sum_{n=2}^{\infty} \frac{\Gamma(2 - \alpha)\Gamma(n+1)}{\Gamma(n+1 - \alpha)} a_n z^n. \tag{12}$$

In the next theorems , we show that the function  $G(z)$  defined by (11) be in the classes  $k - UCV(\gamma)$  and  $k - ST(\gamma)$  respectively .

**Theorem 1:** If  $f \in k - UCV(\lambda, \gamma, \beta, \delta)$  and for some  $k \geq 0$  the following inequalities

$$\sum_{n=2}^{\infty} \frac{n(n-1)\Gamma(\beta + \delta + n)\Gamma(n+1)}{(1-\lambda + n\lambda)[n(1+k) - (k + \gamma)]\Gamma(n+1 + \alpha)\Gamma(\delta + n)} \leq \frac{\Gamma(\beta + \delta + 1)(2 - \gamma)}{(1-\gamma)(k+1)\Gamma(\delta + 1)\Gamma(2 + \alpha)} \tag{13}$$

and  $\sum_{n=2}^{\infty} \frac{n\Gamma(\beta + \delta + n)\Gamma(n+1)}{(1-\lambda + n\lambda)[n(1+k) - (k + \gamma)]\Gamma(n+1 + \alpha)\Gamma(\delta + n)} \leq \frac{\Gamma(\beta + \delta + 1)}{(1-\gamma)^2\Gamma(\delta + 1)\Gamma(2 + \alpha)} \tag{14}$

are hold true, then  $G(z) \in k - UCV(\gamma)$ .

**Proof :** From (11) and Lemma 2 , we get

$$\begin{aligned} & \sum_{n=2}^{\infty} n[(k+1)(n-1)] \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \\ & \leq \frac{(1-\gamma)(k+1)\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{n(n-1)\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \end{aligned} \quad (15)$$

and

$$\begin{aligned} & \sum_{n=2}^{\infty} n(1-\gamma) \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \\ & \leq \frac{(1-\gamma)^2\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{n\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)}. \end{aligned} \quad (16)$$

Hence , from (15) and (16) , we get

$$\begin{aligned} & \sum_{n=2}^{\infty} n[(k+1)(n-1) + (1-\gamma)] \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \\ & \leq \frac{(1-\gamma)(k+1)\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{n(n-1)\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \\ & + \frac{(1-\gamma)^2\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{n\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \end{aligned} \quad (17)$$

Finally , if we make use of the hypotheses (13) and (14) in (17) , we get

$$\sum_{n=2}^{\infty} n[(k+1)(n-1) + (1-\gamma)] \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \leq 1-\gamma .$$

So by using (11) and Lemma 3 , we get  $f \in k - UCV(\lambda, \gamma, \beta, \delta)$  .

This complete the proof .

**Theorem 2:** If  $f \in k - ST(\lambda, \gamma, \beta, \delta)$  and for some  $k \geq 0$  the following inequalities

$$\sum_{n=2}^{\infty} \frac{(n-1)\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \leq \frac{\Gamma(\beta+\delta+1)(2-\gamma)}{(1-\gamma)(k+1)\Gamma(\delta+1)\Gamma(2+\alpha)} \quad (18)$$

and

$$\sum_{n=2}^{\infty} \frac{\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \leq \frac{\Gamma(\beta+\delta+1)}{(1-\gamma)\Gamma(\delta+1)\Gamma(2+\alpha)} \quad (19)$$

are hold true, then  $G(z) \in k - ST(\gamma)$  .

**Proof :** From (11) and Lemma 2 , we get

$$\begin{aligned} & \sum_{n=2}^{\infty} [(k+1)(n-1)] \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \\ & \leq \frac{(1-\gamma)(k+1)\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{(n-1)\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \end{aligned} \quad (20)$$

and

$$\begin{aligned} & \sum_{n=2}^{\infty} \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \\ & \leq \frac{(1-\gamma)\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \end{aligned} \quad (21)$$

Hence, from (20) and (21), we get

$$\begin{aligned} & \sum_{n=2}^{\infty} [(n-1)(k+1)+1] \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \\ & \leq \frac{(1-\gamma)(k+1)\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{(n-1)\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \\ & + \frac{(1-\gamma)\Gamma(\delta+1)\Gamma(2+\alpha)}{\Gamma(\beta+\delta+1)} \sum_{n=2}^{\infty} \frac{\Gamma(\beta+\delta+n)\Gamma(n+1)}{(1-\lambda+n\lambda)[n(1+k)-(k+\gamma)]\Gamma(n+1+\alpha)\Gamma(\delta+n)} \end{aligned} \quad (22)$$

Finally, if we make use of the hypotheses (20) and (21) in (22), we get

$$\sum_{n=2}^{\infty} [(n-1)(k+1)+1] \frac{\Gamma(2+\alpha)\Gamma(n+1)}{\Gamma(n+1+\alpha)} a_n \leq 1-\gamma.$$

So by using (11) and Lemma 4, we get  $f \in k-ST(\lambda, \gamma, \beta, \delta)$ .

This complete the proof.

## References

- [1] W. G. Atshan and R. H. Buti, *On generalized hypergeometric functions and associated classes of  $k$ -uniformly convex and  $k$ -starlike  $p$ -valent functions*, Advances and Appli. in Math. Sci. 6(2) (2010), 149 – 160.
- [2] W. G. Atshan and S. R. Kulkarni, *Neighborhoods and partial sums of subclass of  $k$ -uniformly convex functions and related class of  $k$ -starlike functions with negative coefficients based on integral operator*, J. Southeast Asian Bulletin of Mathematics, 33(4) (2009), 623-637.
- [3] A. W. Goodman, *On uniformly starlike functions*, J. Math. Anal. Appl. 155(1991) 364-370.
- [4] S.M. Khairnar and M. More, *On a subclass of multivalent  $\beta$ -uniformly starlike and convexity functions defined by a linear operator*, IAENG Int. J. of Appl. Math., 39:3, IJAM\_39\_06.

- [5] R. K. Rania and I. B. Bapna , *On the starlikeness and convexity of a certain integral operator*, Southeast Asian Bull. Math. 33(1) (2009) 101- 108 .
- [6] S.Owa, *On the distortion theorems* , Kyungpook Math. J.18(1978), 53-59.
- [7] H.M. Srivastava, *Generalized hypergeometric functions and associated families of  $k$ -uniformly convex and  $k$ -starlike functions*, Gen. Math. Vol. 15, Nr. 2-3 (2007) , 201-226.
- [8] H.M. Srivastava and R.G. Buschman , *Convolution integral equation with special function kernels* , John Wiley and Sons , New York , London , Sydney and Toronto , 1977.
- [9] H.M. Srivastava and S.Owa , *An application of the fractional derivative*, Math . Japon , 29 (1984), 384-389.
- [10] H.M. Srivastava and S.Owa, (Editors), *Univalent Functions , Fractional Calculus and Their Applications* , Halsted press (Ellis Harwood Limited , Chichester), John Wiley and Sons, New York, Chichester , Brisbane and Toronto, 1989.

**Received: November, 2011**